Review of Station 3 Minus Drift Chamber Support:
   Knee:
1. There are no calculations that show the load, reactions, and stresses on the “2x4 tee box beam” as shown in Figure 10. There are no calculations that show the allowable shear and moment on this member.
2. For the weld between the 4x2 tube to the vertical 3x3 tube, the method used to compute the allowable load on the weld  produces a value “P” that is in KIPS, not KSI as you show. This allowable value of “P” should then be compared to the computed reaction at this joint.  Since you have not computed the load at this connection, as stated above, there is no way to determine if the weld is adequate.
3. The method for computing the welds between the 4x2 horizontal tube and the 2x2 vertical tube does not apply since this method is for Eccentric connections. This connection is not considered as eccentric. The allowable stress value for shear as shown in Table J2.5, page 5-70 should be multiplied by the area of the weld times the length to get the allowable load in Kips on the weld. This value should be compared to the computed reaction at the joint.
   Comb:
1. The value for al should be 7.5, thus a=2.5. C = -(.177-.164)/2 + .177=.171. The equation should be: .171x.857x3x3=1.32 KIPS. Compare this to the computed load on the joint 
General:
Provide an analysis of a horizontal load applied in the direction from one “A” frame to the      other “A” frame at the center of gravity of the assembly. The magnitude of this force should be 0,15g as computed in Note 1242-V3 for earthquake design, where “g” = the mass of the assembly. This load should be applied to the vertical 3x3 tube at the height of the assembly center of gravity. The computed moment at the base of the vertical 3x3 tube should be transferred to the 2x2 horizontal tubes that connect both side frames together. The 2x2 tubes should be analyzed for the stresses from this moment and compared to the allowable stress for a 2x2 tube with a 54.25” span.

